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INSTRUCTIONS

1, At the start of the examination before attempting the question
paper' kindly check your test booklet and OMR Answer Sheet
and ensure that ;-

» The serial numbers of test booklet and OMR answer sheet are
same.

» All pages of test booklet & OMR answer sheet are properly
printed and test booklet is not damaged in any manner. No page
of test booklet is missing ..

In case of any discrepancy/defect the candidate should immediately
report the matter to the invigilator for replacement of test booklet ~
OMR answer sheet. No claim in this regard will be entertained after
five minutes of start of examination. Candidate wiII be liable for it.
2. Answer all questions.
3. All questions carry equal marks.
4. Only one answer is to be given for each question.
5. If more than one answers are marked, it would be treated as

wrong answer.
6. Each question has four alternati ve responses marked serially as

1, 2, 3, 4. You have to darken only one circle or bubble indicating
the correct answer on the Answer Sheet using BLUE BALL
POINT PEN.

7. 113 part of the mark(s) of each question will be deducted for
each wrong answer. (A wrong answer means an incorrect answer
or more than one answers for 'any question. Leaving all the
relevant circles or bubbles df any question blank willnot be
considered as wrong answer.)

8. Mobile PhonelBluetooth Devices or any other electronics gadget
in (he examination hall is strictly dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet. 5 Marks
wi II be deducted for filling wrong or incomplete Roll Number.

10. If there is any sort of ambiguity/mistake either of printing OJ'

I
faCIUil.1 nature in Hindi and English Version of the question, the
English Version will be treated as standard.

I Warning: If a candidate is found copying or if any unauthorized
material is found illhis/her possession, FI.R. would be lodged against

I him/he,' in the Police Station and he/she would liable to be prosecuted
under Section 3 of the Stale Prcvcntlon of Unfair means Act,
1992 and Board Regulations. Board may also debar him/her

I permanently from all future examination of the Board.
I .
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1) Who discharge the duties of Governor in his absence?

1) Speaker of Vidhan Sabha

3) Chief Minister of a State

2) Chief Justice of High Court

4) None of the above

1) <1\iilql(iJ q5t ~ if ~.~ C{)f ~ ~ qj'{Gf ~ ?

1) fcitrR ~ em: i31tll~ 2) \3u:.r ~1;q1(iJ;q em: ~ ~
3) ~ C{)f ~ B:ft 4) \3q;f)Cfd if B ~ ~

2) Consider the following two statements?
Assertion (A) : State Governor holds his office during, the pleasure of the President.
Reason (R) : Governor is appointed by the Prime Minister.
In the context of the above two statements whichone of the following is correct?

1) Both A and R are true.and R is the correct explanation of Ai
2) Both A and R are true but R is not a correct explanation of A.

3) A is true but R is false,

4) A is false but R is true.

2) ~ ~ ~ m ~ 1;[( fcI<.m" ~-
. Cf)~ (A) : ~ C{)f <1\iilql(iJ ~ ere:: 1R <1~qRl q5t ~tBlq<l\:1 ft Wffi' ~ I
CWOT (R): <I\iil YIi!1 q5t ~. w.w=r ~ mtr mm ~ I .

'~ ~ rJ;iT ~ .~. ~ if HyRrif@dif B ~ 'm 00 ~ ?

1) A 0fR R ~ 00 ~ d"m Acfit 00 an&:lT R q:){ffi ~ I

2) A 0fR R rJ;iT 00 ~ 1R A ~oo an&:lT R 4fr ~ I

3) A 00 % 1R R TWrd' % I

4) A TWrd' % 1:f< ROO % I

3) Which one of the following pairs is not correctly matched?

1) Article: 154 - Executive power of State
2) Article: 155 - Appointment of Governor
3) Article: 156 - Qualifications for the appointment as Governor
4) Article: 163 - Council of Ministers of State

,I 3) ~ if B chl;:rm ~ W;ll4~RrIii ~1 % ?

l)i3ijvJc; : 154 - TI~ ctT c,sr4'-t'TW-f! ~WJr
',. r. \"' ~2) i3f'jD'JC::: 155- '{~ em I~~tr;

3) \3iJ~: 156 - ~Iv'~%rf(hl ff:Ifffi %TI Iitr~
4) \31:1. ,jJC;~ : 163 . ~.Io-;q ~'r 1:]IT(s[c\

".,,-_._-_ .._----_._----------
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4) Consider the followings about the State High Court:

i) Article 213 provides that there shall be a High Court for each State.

ii) Judges of High Court are appointed by President.

iii) Under Article 226, it has power to issue certain writs.

IV) As per the provisionofthe Constitution ofIndia common High Court can be established for two
or more States;

Choose the correct answer from the codes given below:

1) i and ii are correct

. 3) ii, iii and iv are correct

2) i, ii and iii are correct

4) i, iii and iv are correct

4) ~ ~ ~ ;</o/F4IM<::1 ~ qft if P!9f&!f@d q-{. fcrcrn: ~':
i) Bmm;:r~~ 213 ifmcr~ % f~ ~ ~ if ~ ~ ;</0/1<::11<'1<::1 mrrr"
ii) ~ lj1:.ij ;</0/1<::11<'1<::1 ~ ~m~Tf ® .~. {1~qRl&rtr mm % I

iii) ~ 226 ~ ~ ~';;q141(i14 em' ~ #r@ (Writs) :mft ~ cnr' ~ t" I
iv) ~ \Wrt[R ~ mcr~ ~ ct~j(ilfm Q~cit B- ~ ~ ~ ~ 1:% tt ~;~I<mi1'4 tnr."ll"7Yl

fcBm \iTf BCRlT % I' ,,'.

~.~ ~¢ fr Btt \3U{ q)T~ ~:

1) i~~ii~ % I

3) ii, iii ~~ iv@ % I

5) Council of Ministers of a State is accountable to:

1) State Legislative Assembly

3) Governor

2) Indian Parliament
;1.\4) Pr~ldeht

5) ~ lcit ~ \ijqli§j~ifl~ % :
I) ~ Pcr~ r:rqr ~ -'met
3) (l"'4ql~~~ >rm

2).~~~.~

4) (p~qR1 ~JTRr

6) Arrange the following posts of a State Secretariat in hierarchy (Higher to lower) order by using the
code given below.

. i) Secretary

Ii) Deputy Secretary

iii) Special Secretary

IV) Assistant Secretary

Code:

1) iv, iii, ii, i 2) i, iii,ii, iv
.......

4) HI, 11, 1, IV3) ii, iii, iv, i

4

indiresult.in whatsapp - 9352018749



•

GHW

6) .:mn ~ ~ Bfqq if ~ qcJ CfIT ;ft-it ~ TTit ~ ctT ~ "frtrG: liilQH"llI ~ (~ "fr~)
if H1I1Did ~ ~ ~ ~ Cf)T T.IWf ~ I
i) Bfflq

ii) \jq ~

iii)~·Bfuq

iv) ~ "fIfuq

~:

1) iv, iii, ii, i 2) i, iii, ii, iv 3) ii, iii, iv, i 4) iii, ii, i, iv

7) Which of the following is not a function of District Collector?

1) Collection of revenue

3) Collection of Income Tax

2) Maintenance of Law and Order

4) Maintenance of Land record

7) i3l~.i'if~f@d if "fr~ ill ~ ~~T cor ~ ~ ?
~

1) ~ Cf)T qCf)?lICf){OI 2) CFiFf1 ~ ..~ <@{@q

8) Balwant Rai Mehta Committee was on :

1) Democratic Decentralization

2) Panchayati Raj Institutions

3) Rural Development

4) Community Development programmes

8) ~ W-l .~ ~ tTI -
1) ~1Cf)cti8lCf)RlCtl~lICf){OI tR

:3) m4lur fcrcnrn tR

2) cj i.llll \1"1 "{f\Jf mm '* tR

4) \lltiC:II1lCf)~ ¢h14~l1 tR

9) Which of the following articles of the Oonstitutionwas inserted through the 73rd amendmentregarding
Panohayats?

1) 243 to 243-T 3) 243 t0243-0 4) 243 to 243-ZA2) 244 to 24.4-P.

1) 243"fr 243- T 2) 244'~ 244-p 4) 243"fr 243-ZA3) 243"fr 243-0

10) Panchayati Raj is a system of:

1) Local government

3) Local administration

2) Local self government

4) Rural local self government

25-:8 5 PTO
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10) q'tlI""l~"I"{[\if ~ % :

1) ~~CtT
3) ~ ~~m:A"ctT

2) ~. W~m:A" ctT
4) ~ ~ ~-~1TW1 ctT

11) Consider the following about State Legislative Assembly:

i) It's term is Five Year

ii) It is chaired by Chfef Minister

iii) It is directly elected by the people

iv) Governor is empowered to dissolve it
Code:

1) i, ii and iv are correct

3) i, iii and iv are correct

2) ii, iii, and iv are correct

4) i, ii and iii are correct

11) ~ rn-qm- Bm $ em: if,<31~·Rrit@d q-{ ..fcrtm: ••~:
i) ~ w:m Cfiffi qfq $sf mcrr % I

ii) ~~.mrr~·~~%.1·
iii) ~ \lf1ill &m ~~ ~ it Hqf'tl1 irdT % I

iv) (1;;;QQI<'1 cir ~ ~ cor ~% I

~:

1) i, ii <'r~Tiv Btt ~ I

3) i, iii <'rmiv Btt ~ I

2) iii, om iv"Btt ~ I

M ,:i,.iioID iii Btt ~ I

12) In which of the following games, India has wonWo~~d Cup in October 20t6?

1) Kabbadi 2) Football 3) Hockey .4)· Lawn Tennis

12) H9Rrit@d if -g fctB- ~ if ~ cir .~ 2016, if .~ cn-q mm. m ?

1) ~ 2) ~ .3) (iX<$). 4) W<f?:f¥:r

13) In US President's election 2016 Donald Trump was a candidate of:

1) Democratic Party

3) Constitution Party

2) Republican Party

4) Green Party

13) 2016 if ~ ~ ~ ~ (lGS::qR\ ~ if ~ ~ fctB- (I\JFil@Cf) ~ $ G4Jlc,cm it ? : .
1) -% I1~I~)f2:Gb qrt1 2) RqRrlch"! qrt1 3) cb (<1~1~Rqrtf 4) 3fr;:r trrif

25 - 6
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14) When did NITI (National Institute for Transformation of India) Aayog came into existence?

1) 1st Jan, 2014 4) 1st Jan, 20162) 1st Nov, 2014 3) 1st Jan, 2015

14) ~ mcBR Cf)TNITI ~ cn& "B ~ if i3TIm ?

1) 1 ~,2014 B 2) 1~, 2014 B 3) 1~, 2015 B 4) 1~, 2016B
,

15) Goods and Service Tax Council (GST) of India is headed by:

1) Prime Minister

3) Finance Secretary

2) Finance Minister

4) Speaker of LokSabha

15) ~ ctT GST ~ Cf)T0lm~ % :
1) >f~ *IT
3) fcffi ~

2) fcffi) *IT
4) @q) B'l1T cnr 0lm~

16) Match List-I with List-II and .select the ~pqFct,~ns~erq~ing the codes given below-
List - I List-Il
(Mountain Types) (Region)

A) Young folded i) Soufh-Eastem coast of North America
B) Old folded ii) Western coast of North America
C) Volcanic iii) South- Western coast of North America

D) Fault-block iv) Circum-Pacific belt

Codes:
A B C D

IV iii

IV
IV

11

11

11 iii

iii 11

iii IV

-II eN ~ - II B ~ ~ ~~ ~ ~ 'fCl; .~ Cf)T w:iM ~ ~ \jffi gA"Q; ~
\

~14-_;J ~ -' II '
~~tl>fcl)R) (~)

. '~ i) .~ ~ 9?T~flJT- ~ ~.

,. ii) 0flfl~. Ch1~~ ~
C) v~WH4j~ .iii) :~n~' ~i01~~1Ur - '<lli~ (fc
D) ~~lw~1J$ iv) t@. ->f~n%'tr8
~:

A B D

iv 111

1V

1V

11 _.,

7 PTO

1)

2)

11

11 111

25 -
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17) Match List-I with List-II and select the correct answer using the codes given below-
List - I List-II
(Mountain Peaks) (Continents)

A) Kilimanjaro i) South America
B) Vinson Massif lI} Australia
C) Mount Kosciusko iii) Antarctica
D) Aconcagua IV) Africa
Codes:

A B C D

1) IV 11 iii

2) III iv 11

3) I 11 iii IV

4) IV iii 11

17) ~ - I c€r' ~ - II fr ~ ~ (fm ~ ~ '<m; ~. Cf)f m 'Cfi{ BtT· i3ffi: '~' -

~-I ~~II
(qc0 ~nsR) (~)

A) fcbWl~\J1HI i) ~ ~

B) ~ ~ ii)0m{Wl(;j1
C) 11fuuc; eN fB fleN
D) ,{CbiCbI2G1T

~:

iii) !;0]clcbreCbI

,iv)'!~

A B

1) IV

2) 111 IV

3) 11

4) iv m

18) Which one of the following is the correct sequence of World's Oceans/Seas in descending order of
.wea occupied?

, 1) Atlantic - Indian - Arctic - South China

2) Atlantic - South China - Arctic - Indian

3) Indian - Arctic - South China - Atlantic

4) Arctic - Atlantic: South China - Indian

C D

ii iii
ii

III iv

ii

,

18) ~ t ~icl{)Q"1ml1 i'i m~crt l1i?l{lIlIZi / 'JlTffi Cf)ff'r9 i'ifr u#r ~ ~ - fIT tt ?
1) 01c«1iRCb - ~ - ~ - GJ11ur ~

2) 01c«1iRCf) - c@fUT ~ - 01lchIC:Cf) - w.:c:
~ r" r-. r-. , ore3 ) IQ <>G, - 01TCf!1CCf)- GJ2:fUTqR - 01 c«11 Cf)

4) ~ - 01c~1iIC:Cf) - GJ~ ~ - w.:c:

25 - 8
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19) Match List-I with List-II and select the correct answer using the codes given below-

List - I List-Il
(Particulars) (Spots)

A) World's wettest spot i) Iqique

B) World's driest spot ii) Mawsynram
\

C) World's northernmost town iii) Ushuaia

D) World's southernmost towll iv) Ny-Alesund
Codes:

A B C D

1) 11 IV iii

2) ii iii IV
3) ii i iv iii

4) ii iii iv

'19) ~ -lcBY~-iI~ ~.~ ~m~'~\ ~.~ CflT wWT cg ~ \3m~-

~-I ,~-II
, (~) '@$;f)

A) ~~q CflT ~ ~ i) . ~rmCn
B) ~~q cnT ~ "{~ U)'l l:i1~'HP:i'
C) ~~q CfiT ~ - i3nft ~m iii)~!{!i31T
D) ~~q CfiT ~ - ~ ~m iv},Bl"-~

~:
A B C D

1) ii IV iii
2) 11 iii IV
3) 11 IV III
4) 11 III IV

20) Match List-I with List-II and select the correct answer using the~Qdes given below- '
List - I List-lI '
(Wetland Ecosites),QStateS)

Aj Bhoj i) Himachal Pradesh
B) Cha:n$Iratal "~Ii) M~dhyag(aQe~h
C) Schlur :jii) Tripura
D) Rudrasagar IV) Jammu-Kashmir
Codes:

ABC D

1) 11 IV 111

2) 11 IV

3) 111 11

4) 11 III

III

IV

IV

25 - 9 PTO
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20) ~ -I em ~ -II~ ~ mr; nm ~ ~ 1Tt; ~ q)"f wirT~ Btr 13m ~ -

~-I ~-II
(~~~) (~)

A) ~ i) ~111~0 ~~T
B) i'F~J1WI ii) l1Uf ~!lT
C) ~Ci'R Hi) fu9:n
D) QY\f1PI~ iv) ~ - cp!t~
~:

A B C D'

1) 11 IV 111

2) 11 iv iii
3) 111 11 iv

4) 1 ii iii iv

21) Which one of the following would be the best strategyfor ecology-friendlysustainable developme
in Indian agriculture?

1) Improved farm implements and-machinery, use/of potent insecticides to minimisepost-harves
grain losses and monoculturecrotwing_practice~r

- ,

2) Mixed cropping and use of organic manures, nitrogen-fixing plants and pest-resistant crop
it, varieties.

3) Wide use of high-yielding cr0p varieties, better a:ndmore frequency of aerial sprays of inorganic
-fertilisers and pesticides.

4) Expansion of cultivable land, increased use of s~per phosphate, urea and effective bioacids.

21) ~ ~_ if ~ - W:r C;)ISIO~<Q ~ ',~ HRiRitftqd it ~ ~ .:m ~ ~ irIT ?

1) \Fffi ~ \3QCf){OI I3fR lf~Wf, ~ ~ -~ ~,' ~ ~ ~ eN ~ -B ~ ~ B~m
~!tm Cl?T mnm ~ _~ ·>fUTRTIT1

-:.»: - -, .;-,.: .,'/ _ - "", " , '! H,'"' "<., ,:_" .-:
2) ~ @ill ~TCfm chIJf.iCf) WIS! TPNR •.-ftiJ€lCf)(iJl mm'®t ~ - mcmm Bm ~_cnT m
3) ~ ~ *R cnB crrffi BB:T'~ cnT~ m,..~ .•~.~.~ nm ~ ~

q q~1c~nrq5TcnT~"~" fuiW·hlcl I

4) W£f ~ cnT~, ~ ~,~&~L0ffiWl ~. -. ~ C!?T ~m I
i,

22) Tropic of cancer and 800 East longitude divide India into fourquadrants. In which quadrant are the
maximum cotton growing areas located?

1) North-East 2) SouthcWest 3) North-West 4) South-East

25· 10
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22) ~ =nsrr cr 80° ~ ~·!?lRR 'qffil c8 'qf{ qgm~iTif ~ ~.~ I ~ qgm~Tif ~ ~ ijj

~~mm~?

4) ~ - w-f

23) What is the root cause of shifting tendency of Indian cotton textile industry from Mumbai towards
Ahmedabad?

1) This-industry has the advantage of early start in Ahmedabad.

2) Land in Ahmedabad is cheaper than Mumbai.

3) High quality cloths manufactured in Ahmedabad are in large demand in India and abroad as
well.

4) Ahmedabad enjoys more import-export facilities than Mumbai.

23) 'qffil ~ ~ cw.;r .i3W<r ?J? ~ .·ft-I3l$4e;IGfIe: em \3lR~~I~<ul·q§\-- ~. -COT+W q)f{Uf cp:ff ~ ?

1) ~ i3W<r c8 01$4e:rGfIe:if ~COT ~ ~ ~ I
2) i3i~4e:ldile: if .~ ~. q§\-.13N&1T~~ I
3) i3i~tje:IGfIe: iff.Wfu- \3U'.T ~ ..~ cw.n rtt ~ crmff@:!?TI#~ -qrl ~ I
4) \3{\';4e;IGfIe:c8 ~ ctt I3Nm \3Wmf - ~ ctt ~ .~. ~.~ I

24) Which of the following statements regarding physical features -of Rajasthan is/are correct? Select
the correct answer using the codes given below-
i) Hq."da:utiplateau is bounded by Main Boundary Ffiult in North-West.
Ii) 41,50 percent area of western sandy plain is sanddune f~ee region,
iii) StnJcturalIy, physicalfeatures of Rajasthan form part of northern great plains and peninsular

plateau of India.
IV) AravaIli in the present time exist as-residual mountains.
Codes:

1) i, ii and iii .' 2)._ ii, iii and iv 4) Only iii3) i and iii

24) ?]\JR~ ijj ~ ~- ~ .~.tl ilH9f?iffild il ft ~ - m / .~ - ft CI?~ ~ ~ ? ;:frir ~ ~
~COT w:iM iIn: BtT i3r1J ~ -

i) ~ l:f6R ~~ il-~ BPn 1i~T &m ({I'-lifcBct ~ I
ii) ~~ t=n#r fre:R COT41.50 >@r~"Rf_~ Gfl(j/.bl«[q :rm ~~T ~ I
iii) ~{tFiI~Fb ~ ft "{f\if\~ ~ ~ ~ 'qffil ?J? \3nfr ~ ~ \3fu S1li01tlY~li01tf6R COTm-m %
iv) ~ ~ il~~ m·~ffi il~<§-T ~ I
¥:

1) i, ii \3fu iii 4) ~ iii2) ii,iii-\3fuiv 3) j \3fu iii

25-8 11 PTO
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25) Which of the following statements regarding climatic conditions of Rajasthan is/are correct? Select
the correct answer using the codes given below-
i) Climatic conditions of Rajasthan exhibit extremity of temperature and rainfall.
ii) During the last ten years amount of rainfall has decreased in western desert part, while increased

in Mewar.
iii) Sudden onset of South-East moisture laden winds over an intensely heated landmassis the root

cause of scarce rain in Western Rajasthan.
iv) Climatically major part of Rajasthan lies in sub-tropical zone.
Codes:

1) i and ii 3) i, ii and iii 4) i, ii and iv2) ii and iv

25) ~ chl ~ ~ ~~ if M9Ritm1frif B ~ - m'/~B cn~ ~ ~ ?' ~~TJ1{; ~ Cfi1
m cnI' 00 i3ffi: ~ -

i) ~ ~ ~ c:~li!~ Qj- ,crcU chl ~~I;qjiH;'~~-,%1

ii) TRf c:B' ~ if ~ ~~T if qrsrfchl ".~, ~ l'~n~ ~. it ~ ,% I
iii) ~ ~ if ~ cr:IT Cfi1 ~ cnRUT ~ ~ iJUTfr~4!t9?p 'IT • ,)(~ ?lrr;l-,I~=-rdl=tc:U.,:,.t~ qcrff Cfi1

0i1Cf)~Cf) Wt~T %1 , " ' " ',' ,
~ ',,'F,~ :;; ',:,.,>"

iv) "~ chl ~ B ~ Cfi1 ~ ~',;. ~ '~.tr if ft~ % I
~ . ,,}riil ",Ii

1) i i3fRii 2) u i3fRiv 3) i, ii i3fRiii 4) i, ii i3fRiv

26) Match List-I with List-II andselect the lc6rrecliahswerlusingtl1ecodes given below-
,

List - I List-Il
(Soil Types) (ClimaticiRegions)

i) Arid and semi-arid'

"ii)' Se~-arid andh~niid

iii) Sub-humid an~ humid
IV) Humid and super-humid

A} Aridisols

B) Inceptisols

C) Alfisols

D) Vertisols

Codes:

A' B C .D

1) iii ii iv

2) IV 11 1ll

3) 111 IV ii

4) 11 111 iv
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26) w-IT - I q5r ~~ - II B ~ ~. d"m- -.:WJ: ~ TR; ~ q;)f ~ GO{ Btt i31:R ~ -

~-I ~-II
(fTffr ?n ){Cf)R) (~ Wi~T)

A) ~n!5l{ilRl i) ~ -qct ~ - ~

B) ~i~tih:j)R1 ii) ~ - ~ ~ ~
C) Ji (Yq)){ilR1 iii) ;:iq - ~ -qct ~

D) cteh-11~1 iv) ~ -qct 0ffi1 - ~

CfC:
A B C D

1) iii 11 IV
2) iv 11 111

3) iii IV ii

4) ii iii IV

27) On the basis of legal status (31 March, 2011) examine the following statements regarding forests of
Rajasthan and ~elect the Correct answerusin~ the codes given below-
J ' \';\!.', , .. ,_, .':, _,,' 1.,-," .' .

i) Of the total forest area in Rajasthan reserved and protected forests Eespeptively ponstit}Jte 55.84
q apd 37.94 p~rce~t. ; ..... .....• .. ., .
ii)" Maximum reserved forests in the State are found in Udaipur mid Chittorgarh districts.

, .'.. ,-', ,.. " " .. '.'

Hi) Maximum protected forests in the Stat~areJopnd. in Bar~I,1.and Karauli qistQHts.
iv) Ma~um unclassified forests ~n the State are found in Bikaner and ;giln,gilililgar districts.
Codes.;

, 1)· i, if arid iv : : 2) i,ii and iii 4) Only i3). ii, 'iii.and.rv

27) fr~ ~(31lW'i,2011)?n 0TItrR <R~~?n cAt?n~,Jtf it H9Wtfulct Cf)~q;)fqfta:rur ~

~~~ TR; ~ q;)f ~ GO{ um ~ ~-
i) ~I\fI~ ~ ~. Cff ~if·~ ~ ~ cAt q;)f ~ ~~T: 55.84 R 37.94 ~~m % I
ii) ~ it ~ \31fucn ~ Cfl ~ R Rn:tli$l It? ~ if ~ \i'fffi ~ I
Hi) Wt( it ~ ..01ftrcn "ffif~..q;l. ~ R cntrm fvrffi if ..~ .."\JIT€t % J
iv) ~ it ~ \31fucn 0"1ct l ITCJjfl Cfl ~ R l ilII"P I( fvrffi' if 1:fl1l; \JIT€t ~ I

1) l, ii -3fR iv 3) ii,'iii"i3W iv 4) ~i"2) i, ii 0frtiii

28).. Rajasthan desert is quite unlikely from other desertssituated in similar latitudes of the World. What
is the logical perception about desertification process here?

1) It starts due to drought.

2) It starts and expands from desert heartland.

3) It starts and expands from arid regions.

4) It starts and expands due to overgrazing, over ploughing, deforestation and improper management
of soil and water.
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28) ~ CfiT ~ ~~q ~ ~ i3lm~iTif ~ ~ ~ B BCfm ~ % 1~ ~ mw:rr

~ ~,Jtf if CFTI ~ B& % ?
1) ~ ~ ~ CfinlJT ~ m-m%1
2) ~~B~qmmmm-mt-I
3) ~~~BQW~q~M'll
4) ~ -31Rl'cll<0l,~,f.l441Cb{oI, ~ ~ q \iWf~~ ~ ~ crnur ~ q>lBlfur M-% 1

29) In which Agricultural Year during the last three decades more than90 percent villages of Rajasthan
were hit by unprecedented famine and drought?

1) 1987-88 2) 2000-01 3) 2002-03 4) 2009-10

29) 1fff ill'1 C:~TCbl if ~ if 90Qffi~RTB ~ -rffq ~ ..~ .qtf ii~RT~ ~ ~ ~
~?
1) 1987-88 2) 2000-0r 3) 2002-03· 4) 2909-10

. 30) Examinetpe (oll~wing ~tateme~tsregarding. developmyn.tof barren land in Rajasthan and select
the correct answer using the codes given below- •• ', ... .... .. .. / .. \
i) Currently (2013-14) barren land.constitutes abotit19percent of.total reported-area for.land use

purpose in the State. .i

ii) Old fallowlandhas recorded about 18 petcenfdec#ease over the lasf30years in the State.
iii)Onus of developIl)ent of barren landin the'Statelies .with the,National Wasteland Development

Board.
iv) Integrated Barren Land Development Project is h7il1gcqrrerttly Tun in 10 districts of the state

with the co-operation of Swedish IntemationalDegelopment Agency (~IDA).
Codes:

1) i and ii 2} i and iii 3) ii andiv 4) i,ii and iv

30) ~ if ~ ~.mrn·~ ~~if ~ cn~?flTW~~"ff~r-.ft€r.~-<nt~ cmwWT em
Bm~:~-
i) . ~ if cr*rR (2013-14) if 'i-~ ~ ~. RRl~re:¢1·~if ·~19 >lffi~TQ.~. ~ ~ %1
ii)'~ if 1fff 30 cr:n. if wRT ~ ~if WT1m 18Qffi~RTchlcn4t ~ %1
iii) ~ if ~ ~ mrn Cfll4fuY c5T Rb~IRl¢1~cnT\3tHc,IRl¢l .~ .~. ~ ~. q"Tg COT %
iv) ~ ifQ4112[i¢1~. ~ mrn tiTGRr~~10hHl~~ ~ ~ (SIDA) ~~Tf B ~

if 10~ if ~ m % 1

~:

1) i0ffi:ii 2) i 0TR iii
.... "'''', .

3) 1l i31R IV 4) i, ii 0ffi: iv
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31) In view of increasing number of dark and grey zones in Rajasthan Central. Ground Water Authority

of India has put total ban on exploitation of ground water in which of the administrative blocks of
the State?

1) Bhinmal. Todabhim, Toda Raisingh

2) Bchror.Bhinmal, Surajgarh, D40nd, Shri Madhopur

3) Surajgarh, Desuri, Deoli

4) Behror, Osian, Mahuwa

31) TI\IR~ if J1~ ~ ~. (dark and grey) ~cfr ~ ~ ~ $ 4&'1iiH ~ $ ~ 'li- "i:i'Wf
~ ~~ $ fcp.f >l~rrTBACf) Nif ~ \ij~c8$'1 'R ~ ~ W1T m % ?

1) ~,~, irsT ~

2) ~,~, <{{WI<P,.~, ~

3) ({<\ijll<P,~, ~

4) ~,~,.~

32) Odd out the incorrect statement regarding livestock numbers in Rajasthan-

1) Rajasthan constitutes 11.27 percent of totallivestock numbers of India (2012).

2) Livestock numbers of Rajasthan increased by 10.69 lac from 2007 to :2012.

3) Donkeys and mules recorded maximum increase innumbers from 2007 to 2012.

4) Camel recorded maximum decrease in numbers from 2007 to 2012.

32) U\iR~ if q~ ~ $ ~,if llWl .q)~. cnT ~-

1) ~~ if 'qf"ffl cfr ~. 1:f~ ~ GfiT 11.27 >rfu~mq-](:ff \TfRfT % (2012) I

2) cr:f 2007 ~~012 if ~ cfr 1:f~~ ~if 1().69~ ~ ~. ~ ·~I
3) cr:f 2007 B2012 if <rm q ~ cfr ~ if ~ ~ ~ % I

4) ~ 2007 B 2012 if'~ .~~if ~ &B ~\31T% I

33) \Vhich of the followingchanges occurred in cropping pattern of Rajasthan sinc~FirstPlan Period
till 2012-13 is/are correct? .. .: J

1) Area under cereals has increased from 42.5 to 56.0 percent.

U) Area under pulses has declined fromZl.O to 13.5 percent.

iii) Area under oil seeds has increased from 6.2 to 20.5 percent.

iv) Area under cotton, sugarcane, guar, fruits, vegetables, spices and fodder crops has increased
16.8 to 23.5 percent.

the correct answer using the following codes -

1) l, i! and iii 3) Only i 4) ii, iii and IV2) i and iii

1525'- •
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33) ~ if >r~ ~ 'l?WfB 2012-13 CfCl) ~ ~ if ~ RfTf if ~ ~. ~ ?
i) i3RfiJf ~ ~ ~ 42.5 B ~ 56.0 >rffi~Kfm Tf(:f[ ~ I
Ii) -a:rffi ~ ~ ~ 21.0 B ~ 13.5 >rftf~Kfw Tf(:f[ % I
iii) ~ ~ ~ ~ 6.2 B ~ 20.5 >rffi~Kfm Tf(:f[ % I
iv) C/YTIB, lFIT, TC.fR, tfWf, BGJft, ~ q qm ~. ~ ~ ~ 16.8 B ~ 23.S ~'1i1ff t I
f.=r.l ~ ~ Cf5Tm CR BtT ~ ~ - .

1) i, ii\3fu" iii 4) ii, iii i3ffi' iv2) i \3fu" iii 3) ~i

34) Match List-I with List-Il and selectthe correct answer using the codes given below-

List - I List-II
(Lift Canal) (Beneficiary Districts)

A) Jai Narain Vyas i) Bikaner, Nagaur

B) Choudhary Kumbha Ram ii) Jodhpur, Bikaner

C) Panna Lal-Barupal iii) Jodhpur, Jaisalmer

D) Dr. Ka:rni Singh iv) Hanumangarh, Churu

Codes:

A B C D

1) 111 ii IV
2) ii IV iii 1

3) iii iv 1 ii

4) ii IV i iii

34) ~ - I eN ~ - lIB .'~. ~~ ~ it ~ ~<nii~. Cf5T ~ CR 00 ~t~ -

~-I ','w-n-II . , '
(fWFc m) (~ fGWr)

A) ,jP"F1I{I<LIUI d:ffi1 i) , ~, W
B) ~mt~~ ii) ;:;fr~, ~"ICf)I~{

iii) ;:;fr~, jj(WI~{

IV) Qjlil,;:jll(f, ~
C) Q"'1I~~11:1'1 - iSm~%rl

D) ~. Cf){uTH"fiQ
~:

A B C D

1) 111 11 IV

2) 11 IV 111 I
3) III IV 11

4) 11 IV 111
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35) Match Llst-I with List-Il and select the correct answer using the codes given below-

List- I List-II
(Minerals) (Mining Areas)

A) Emerald
B) Gamet
C) Manganese

D) Copper
Codes:

A

i) Tikki, Garhbote
ii) Rajrnahal, Bageshwar
iii) Leelawani, Kalakhuta

iv) KoIMn, Bhagoni

1)

B C D

iii ii iv

ii i IV

11 iii iv

IV 11 i

2) III

3)

4) III

35) ~ -Iq)) ~-nB- ~ ~ (f~T-.ftit ~ 'm ~ q)f m~....@- ~ ~-
~-I ~-II
(~) «(SfFf ~)

A)~ i)~,·~
B) ~ ii) n\5'jli~0,! qi1T~CR
C) ~ iii) .(f1'"'10ICII'll , Cf)101~cl

D) illcrr iv) ~, wTI-;:fr
~:

A B

1) III

2) iii 11

.~) 11

iii IV

C. D

11 iv

IV

111 IV

11

3G1the basis of industrial potentialities assessed by various Public Sector Financial organisations
, RFC, RAJSICO etc.) which districts of Rajasthan have been included in category 'A'?

'Jodhpur, Pali, Ajrner, Alwar

, Jodhpur, Bhilwara, .Jaipur

Tonk, Chittorgarh, Ajrner

4) Ajmer, Udaipur, Bharatpur
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36) fllcl\ilHCfl ~ ~ ~ ~ ~)(IU<;::O; RFC, RAJS1CO ~) &RT ~~~lfTICfl W~13TI
&l \31T~ ~ 'A' ~ if ~ .~.cr*r-"?r m f1~Wid ~ "l"fQ; ~?

1) \JlT~, qwfr, ~, ~ 2) ~,\JlT~, '4lVlClI¥I, ~

3) ~,i1cn,Rnih?lcp, ~ 4) cNcr,~,~, ~

37) Which of the following statementsregarding population trends in Rajasthan is/are correct? Select
the correct answer using the codesglv~hbeJow-
i) Decadal growth rate of the State population has declined 9.97 percent during 1991-2011.

ii) Population density of the State has increased more than six times during 1901-2011.
iii) Trend of sex ratioof the State has been even during 1901-2011.

iv) Literacy rate of the State has increased more thaneight times during 1951-201l.

Codes:

1) ii and iv 4) i, ii and iv2) i and ii . 3) iii and iv

37) ~ if \iI'1fi&l1 S1qR1~I'~ ~ if H9ifcbd if B ~-m / ~-B co~ ~ ~ 7-;:frit ~.<TQ; ~
CflT ~ cor .Btt ~ ~- ..•. . . ,.. > .: ... .

i) ~ if \iI'1fi&l1 ctt ~~-rm~ ~ 1991-f011&l ~. 9.97 ~~Kf ~ %- I

ii) ~ if \iI'1fi&l1 CflT ~ 1901-2011 &l ~ (9: :runB ~ ~ %- I

iii)~ if Mlll141d ctt W{ffi190{r2QJ1 ~:~.~ WWf m %- I

IV) ~ if mmill ~ 1951-2011 ~ ~ 0fT0:runB .~ ~. %- I

~:

1) ii$ iv 2) i$ii 4) i,ii ~iy3) iii$ iv

38) Match List-I with List-Il and select the correct answer using the codes given below-
List -I List-II
(Percentage of Tribes in (Major Habitats)
Total Population of Rajasthan, 2011)

A). Less than 20 percent
B) 20 to 25 percent
C) 26 to 50 percent
D) 51 to 80 percent
Codes-:

A B C D

1) ii iii IV
2) 11 111 IV
3) IV 11 1lJ

4) 11 lV lJl

i)'. Baran, Bundi, Karauli
ii) Chiuorgarh-Rajsamand, Jhalawar. . ,

iii) Udaipur, Sirohi, Dausa
iv) Banswara, Dungarpur, Pratapgarh

25 ~
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38) ~ - I~ ~-n~ ~ ~ ~lQT ~ ~ 1fQ; we qrrm CR Btr i3nl" ~-

~*I ~-II
~ ~ ~ 1J11("i&q1 (~ 0WITB-~)
if \f1'1\f1I~aiem -smr~m,2011)

A) 20 ~:mt tl (.f)l1 .

B) 20 B' 25 ~mwr~
C) 26"fr 50 -smr~m
D) 51 "fr80 -smr~m
~:

i)~,~,~
ii) ~Jj9nq;, {iliH:1H'"¢, SiI(T1lql"$
iii) ~, fuiltt, cmrr

A B C D

11 iii IV
11 iii iv

I IV ii 1ll

ii iv iii

1)

2)

3)

4)r
39) Match List-I with List-Il and select the.correct answer using the codes given below-

List - I List-II
(Tribes of Rajasthan) (MajorHabitats)

A) Sahariya i) Dungarpur, Banswara
B) Garasiya ii) Udaipuf,[Sirohi
C) Damore iii) Baran, Kota
D) Mina iv) Jaipur, .Dausa
Codes:

A B C D

1) ii iii iv

2) ii iii I iv

3) 111 11 iv

Hi ii iv

-Icm ~-n#·~ ~ n'm ~ ~ 1fQ; we qrrm CR Btr·~ ~-
-1 ·~-II

('(1\inm;:r ~ 1J1'ilJ1lm<.fi) (~ 1mcnB-~)
A) i) .~, q(fiClIi$1

Il) ii) ~,fuiltt
cmT,ctm
~,~

iii)
IV)

A B C D
1) II 111 IV
2) II III IV
3) ill ii IV
4) IIi ii IV
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40) Which of the following development programmes are not directly related with improvement of
tribal economy in Rajasthan?

i) Modified Area Development Approach and Cluster Project
ii) Rajasthan Mission on Livelihood (RMOL)
iii) Mewat, Dang and Magra Area Development Programme

iv) Swarnajayanti Gram Swarojgar Yojna (SGSY)
Codes:

1) Only i 3) i, ii and iii 4) ii, iii and iv2) i and ii

40) f.:r;:r.if "?r~-"?r fcrcrm:r Cfll%li ~ if \iI'"f\illru \3{~ ~ ~~ ~ mtf&m: ~ ~ ~. ?
i) -G~~~-~~~W~~
ii) "U\iI1:.:aR GiI\Jj"IRlCflI f4~R(RMOL)
iii) ircm1, srr ~m +:rm ~ fcrC!?rn Cfl14.¢bli

iv) «l0T\iI<:i(i"1 m+l «l<l\il11l< ~ (SGSY)

~:

1) tcwr i 2) i JfR ii 3) i, ii ~ iii 4) ii, iii >3fu: iv

41) How many unernployedtpersons'have' been. estimated in totali 3 crore labour force of Rajasthan as
per population census 2011?

1) 20 lac
,.\

2) 30 lac 3) 38lac 4) 33 lac

41) cpf 201.1 ctt \iI'"f1IOI'"f1 ~ ~ ~ ctt ~ 3 ~ -3l1l-~l"fffi- (labour force) if ~ ~<l\illll<czW.R:r·
~ tr:l; ~ ?

1) 20~ 2) 30~' 3) 38"@@ 4) 33"@@

42) Which of the following facts about unemployment rates in Raj~stHlin is/are correct according to 68th

round 20Ll,.12 RfNati~n~tSample Survey Or&~ni~~tion(N~~Q~u~HN,statPs adjus~~f.{P~§~,modH?
i) 0.9 percent males of total labour force are unemployed in rural areas.
ii) 3.2 percent males of total labour force.are unemployed in urbanareas,
iii) 3.1 percent persons of total labour force.are unemployed in whole State.
iv) Unemployment rates are much higher in rural areas than urban areas.
Codes:

1) Only iv 3) ii andiii 4) i, iii antfi\i2) i and ii
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42) ~,~, &~~ (NSSO) ~ qtf 2011-12 ~ 68 if ~ ~ ~ ~ if ~ ft~
(Blil'!.j'IMd)~ ~. ~il\ijlll{) ~ ~ ~~ if R9 if U ~ - BT / ~ - U d"v:r~ % / ~ ?
i) m-4tur 'abIT if ~ -w=T-lim ~ 0.9 ~liT(f ~~?I\Jjlll{ ~ I
ii) ~wfratif if ~ swr-!iTfcffi: FE 3.2 ~!iTff ~ ~il\Jjlll{ % I
iii) ~ ..~ ~ ~~-~WWr ~3.1 ~~T(f ~~?IiJ'JlII{ ~I
iv} ~wft~. ctr 0R&ff m-4tur ·~·if ~{Fjjllifl em rt( GIQJi ~ % I

~:

1) ~iv 2) i 0fR ii 4) i,iii0fRiv3) ii 0fR iii

43) Which of the following development programmes in Rajasthan were amalgamated in Swarnjayanti
Gram Swarojgar Yojna (SGSY) since 01 April, 19997
i) Integrated Rural Develol?ment(lRDP) andTraining toRuralYouth in Self Employment (TRYSEM)
ii) Development of Women and Children (DWCRA) and Indllstrial Tools Supply in Rural Areas

(SURA)
iii) Ganga Kalyan Yojna (GKY) and Million Wdls Scheme (MWS)
iv) Jawahar Rojgar Yojna (JRY)
Codes:

1) Only i 3) i, ii and iii 4) i, ii and iv2) iand iv

43) ~ ~«lof\l'g~\11ml1 «l?l\Jilll<~(SGSY)~OI., 1999U R9 ~ U ~ - U fcrcm:rGfJ14¢hli
~"TI"fiWr ~ 1Jq. ?

i) BliG:lttmmur ~ (IRDJ» ~m m-4tur ~ «l?l\Jilll{>lfu&fIJJ (TRYSEM)
ii) ~'~~. ~" ..t:;ci GfWf fcrcm:r(DWCRA).d"m 0{j~If1lGfJ~ ~ (SURA)
iii) Tfrrr ~ ~ (GKY) d"m ~W1~'i ~i3lT ~. (MWS)
iv) ~ ..~ ~ (JRY)

~:

1) ~i 3) '.' i, ii 0fR iii 4) li,ii.•~iv2) i ~ iv

44) Approximately how many persons in total population of Rajasthan have been estimated as poor in
2011-12 according to C. Rangrajan Expert Group Report 20147

. 1) 'IJ2 Crore 4) 90 Lac2) 1.51Crore
'.

3) 2.35 Crore

44) m. (ll<I\Ji'iPcr~"'rsm ~ cBT Wi'ri, 2014 ~ i3BTIR" qISf.,.2011-12A "tr0f{-ffi1.cBT cgrr \Ji'i(~@.Lif wro/r
~ ~ f.f*r i3Wt ~ ? . ~ , . " .. ,.' " ~ ,

1) 1.12$ 2) 1.51$ 3)2.35 $ 4)90~
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45) Which of the conclusions obtained from poverty ratios calculated for Rajasthan according to Suresh

Tendulkar method is/are correct?

i) Poverty ratio in rural areas of the State has increased by 10.3 percent between 2009-10 and
2011-12.

ii) Poverty ratio in urban areas of the State has decline(:ic;by9.2 percentbetweyrt 2009-10 and2011-12.

iii) Poverty ratios in the State have declined in both-the yeats 2qoQdOarid 2011-12 cOtnpf,tred to
India.

IV) Poverty ratio in 2011-12 was estimated 14.7 percent for Rajasthan and 21.9 percent for India.
Codes:

1) i and iii 2) i and iv 3) i, ii and iii 4} ii, iii and iv

45) W~Td'§>Wh< .~ ..~ ,01~(1I{~~~c!qf{CfI~dRqf'1dl~*RJ(11 «~~~~B~: ~ ..~2
i) ~ ~ ~ ~ fi R~'1dl~ 2009~ioB:2011-12ii~1O.3~~lGGITff II .
ii) ~ ~ ~mtt~ if ~ ~2ob9-10~,.2011~12~ ~ 9.2~~Kl ~ % I
'iii) ~ if cJ;:IT ~. 2009-10 q 2011-12 if ~01~qld trmf ctt,.g;~,4ql.q?; ~ I
iv) 2011-12 if RWRrr ~ ~ ..if 14.7~~m~~ .~ff21.9 ~~Kl fi TIm· I

,.'-' . '" ......., "- -.;-'" -'''. "-';1:. ,'-,,- -

~:

1) i~ iii 2)i 0fRiv 3) i, ii ~ iil 4) ii,iii ~ IV

• i 46) In which period 'Amrawati Stupa' was built?

1) Gupta's, 2) Mauraya's 3) ".Satvahana's 4) Vardhan's

1) ~ 2) ~

47) Who discovered thetBharhtit Stri~a' in the Yeatj.87S

1) Marshal 2) Kanigam 3) K.S.Lal 4) B.K. Thapar

47)'1873 { if '~~' c5r ~ ~·cm ~.?
1) <n~W 2) ..~3)~.~.,#lWr

48) Whereis'DanchandChopra's Havelli' Situated-hi Rajasthan?

1) Bikaner 2) Sujangarh 3) Khatdj 4) Kishangarh

48) ~~ if '~ ~ c5r ~' cnrl W~ % ?
1) 6jICfiI~\ 2) \{,,'iI;:PIi? 3) .~
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49) Who built the famous Fort of Mandu?

1) Hussain Shah

3) Mohammad Shah

2) Bajbahadur

4) Kumbha

49) ~ $- ~ ~ cor ~ fCfi~ ~ m ?
.\

1) ~~m- 2) iSll'J1iS1tll§,< 3) ~ ~m 4) wm
50) What is 'Cheda Fhadna' in Bhils?

1) Festival 3) Marriage 4) Birth of-Son2) Divorce

1) ~ 3) ~ 4) T-f-\J1ri12)~

51) In which of the following Maharaja's Darbar 'Gandharv Baisi' was present in the form of 22 poets,
22 astrologers, 22 singers and 22 other subject specialist?

1) Maharaja Man Singh

3) Maharaja Bhagwat Singh

2) Maharaja Jai Singh

4) Maharaja Pratap Singh

51) R9 if B ~,4$1{11JI1 ~ ~ if 22 cpfu, 22 ;;qIRl~1,22 ~ ttet 22 ~ fcr~Trsrn'~-wrif '<r..qcf
~' rn~41'1 ~.?
1) 4~1{1cr\1~ 2) 4$HI;;;f1 ~

4) 4 ~.I< I\i11 >Kff11

52) 'Namadi and Rangdi' are characteristic of which language?

1) Hadoti 4) Ahirwati2) Mewati

l)~ 2) itcrrm 3) "+rrwfr

53) .Who established the 'AlkhiyaSect' (Sampradaya) ?

1) Lal Ghi 2) Bhola Nath 3)Chararl; Das

53) '~~' ctr'??--WRT~ctr ?
1)~fiRr 2) ~ ~q

4) Sant Dasji

54) During which Maharaja's rule iRamprakash Theatre' was estilbHshedin Jaipur?

1) Maharaja Ramsingh II 2) \Mahar(j.j a Ishwari Singh
:" ji ' f.t,,')', }':l

3) Maharaja Vijay Singh 4) MaharajaMan Sin,gh
_,' ..' ; I{

54) ~ if 'wmcR~T ~' :qfr 7;.!2.TN1TfctB 4~1<1\Jj1~ GflWf it ~ ?

1) ~~I{I\Jj1 ~ - II

3) l=fffil\SfT fc1\J1 q f(~~

r ~.
2) ~~I{I\Jj1 ~~~

4) ~~I{I\Jj1 ~
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55) 'Barn dance' is famous at which place?

1) Alwar-Bhartpur

3) Jaipur-Ajmer
2) Jaisalmer-Barmer

4) Udaipur-Sirohi

55) 'GfB~' Cf%j' q)f ~ ~ % ?

1) ~ - ~ 2) jjflM~{ - ~ 3)~-~

56) To which form the 'Sugan Chiri' is considered as Lokmata

1) Sawangiya Mata 2) Naganchi Mata 3) Ayad Mata

56)· 'wr-t ~' Cf?r fctB ~ICb+ildl q)f ~ 11AT \JfTill % ?

1) «l iiTl;qI 1lliIT 2) 'i III ci1~ I 1lliIT 3) ~ 1=fTffi'

57) Who was the Guru of Balindji?

1) Dadu Dayalji 2) Ramcharanji 3) Sundardasji

57) GiIWF?i\J"l"1in":IQ ~ ~ ?
1) ~ ~ ;:ffi- 2) {1+i~{UI ;:ffi-

58) Which Lok Devata is known by name of 'Jaharpeer'?

1) Hadbuji 2) Ramdevji 3) Devnarayanj~.,

58) '01 ${!OJ''1{' in "'il1=r B ~ B ~ m Cf?r \JfA1 \JfTill ~ ?
1) m;:ffi- 2) ~ ;:ffi- 3) ~q'iI{I;qOI;:ffi-,

59) Who is considered as Lokdevi of Alwarregion?

1) Sugali Mata 2) Sachiya Mata 3) Jilani Mata

59) ~ ~!cffl~ICb~ql in wr if fctB rJFfffi ~ ~ ?

1) ~. 1lliIT 2) ~ 1lliIT ~) ~ 1=fTffi

60) Molana Village is famous for which handicraft art?

1) Teracota 2) Meenakari 3) Bluepottery

60) "{T\Jf{-m1 C5T~<ifq fcnB $("(1cl'wll in fW; .~ ~ ?

1) ~flcilcl 2) +i1'iICbln 3) ~ qfufr

61) What is 'Jannotan'in Rajasthani Culture?

1) A Dinner given by 'the groom side

3) A type of Lokgeet

2) .Measurement of Land

4) An Agricultural Tax

4)~-~

4) Shitala Mata

4) Manglaramji

4) Gogaji

4) <Trrr ;:ffi-

4) Latiyala Mata.

,4) Thevakala

4)·~
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61) ~ ~ if 'Gii·-ikol' ~ ~ ?

1) CR-q-~ ctt i3ffi- it m ~ cmrrr ~
2) ~ COT +rrq
3) ~~~~~7fuf
4) ~ ~ Gj){

62) In Bhil tribe who wears 'Kachawo'?

1) Men 3) Young Boy 4) Children2) Women

62) 'lfurr Gi'"lGiIRl if 'cnrncr ~ ~ ~ ?

1) ~ 2) SOI~(fIlct 4) cmrrco

63} What is 'Aulondi' in RajasthaniCulture?

1) A type of Marriage

2) A local game
3) A girl or woman accompanyingthe Bride-Groom

4) Rajasthani Lok Geet.

63) ~m~if '~' ~~?

1) ~COT~~

2) ~ ~~TI~
3) ~~ ~mlQ" \i'fR Cffiifr ~ ~ ~

4) ~~-1fm

64) What for the 'Chanduji ka Gadha and Bodigama Places' are famous?

1) For manufacturing of Teer-Kaman

2) For Meenakari work
,3) For Kundan Art
4) For JajamPrinting

64) '~COT TfGT ~m iSj""'ls"llIiSOlI'\-!2TR ~ futz ~ ~ ?
1)' ~-q)l=fR f.=rTIur ~ ~ 2) l1"I'"lICf)I{l ~. ~

j) ~CfWfT~~ 4)~~'~~

65) On which part of the body 'Ballaya' ornament is wore?

1) On Head 3} On Nose 4) On Hands2) On Ears

65) '~' i3TI~ ~ 11Q'"11 'JffilT % ?
1) Rn: ~ 2) ~ if
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66) Six people, Parul, Rajendra, Satish, Tarun, Vishal and Prakash, were all born on the same day of the
year. But each was born in different six consecutive years. It is also known that __

a) Parul is older than Satish

b) Rajendra is older than both Tarun and Vishal

c) 'Prakash is 2years older than Tarun

d) Parul was born either in 1962 or in1963
e) The oldest member of the group was born in 1960

Read the above information and Answer the following question _

Que - Which of the following group is correctly listed from the youngest to the oldest?

1) Satish, Parul, Rajendra, Tarun, Vishal, Prakash

2) Satish, Vishal, Parul, Tarun,Prakash, Rajendra

3) Satish, Vishal, Tarun, Prakash, Parul, Rajendra

4) Satish, Vishal, Tarun, Parul, Prakash, Rajendra

66) t9: oqfcH<:j'i, 1:!TOO, ~, wft~T, ~, Pcr~TT"frf0ffimor~T CflT~· cr:f ~.~ ~:rrfusr C/?r ~0lT ~ ~
0Wr1-0TWT ~ if t9! ~ q1SjT if ~ I ~ ~ ~ % ~__ '
a) ~ BCft~TB ~ % I
b) ~ (Rjl1f 0fR Pcr~TT"frf~ B ~ % I

c) mliT~T (Rjl1f B ~ cr:f ~ % I
d) 1:!TOO <:IT ill cr:f 1962 <:IT crsf 1963 if ~ I
e) ~ ~ ~ CflT ~ cr:f 1960 if ~0lT I
\jcffi ~ C/?r ~ 0ffi f.i9ifcnct >T~'lT CflT 13m ~ I _
~~TI-~ if ~ t?ti B ~ ~"Wf?r ~ W-n Chl~ ii~ ~ % ?

1) Bm~T,tffi'Ki'f, ~, ~, Pcr~TT"frf,>TCflT~T

2) Bill~T, Pcr~mrr, TITWf, ~, >TCflT~T,~

, 3) B"ffi~T, Pcr~mrr, 'dOUT, >TCflT~T,~, ~

4) BCff~T,Pcr~mrr, 'dOUT, 1:!TOO, >TCflT~T,~

1) 316169 2) 396243 3) 312723 4) 312523

67) If in a certain language, ENTRY is coded as 12345 and STEADY is coded as 931785. Then how
will the word TENANT is coded?

67) ~ fctm 'qNf ~ C§C-~ if ENTRYc€r 12345 Jffi STEADYc€r 931785 W1@1\J1I~ ill TENANT ~rs:::
c€r C§C -"@bill B fuir Wr&r ~ ?

1) 316169 2) 396243 3) 312723 4) 312523
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68) A, B, C, D, 13and Fare cousins. No two cousins are of the same age, but allhave birthday ofitne

same date. The youngest is 17 years old andE the oldest is 22 years old, F is.scHliewhen=!between'E
and Din age;Aris older than B. Cis older.than D.

Which of the following statement is not possible?

1) F is 18 years old

3) D is 20 years old

2) Fis"20 yearsold

4) F IS 19 years 01\,1.

681'A, B, C, D, E~,F ~ ~ ~•.I.~ ~. oJ~~J~41~ ~~~'WJ"q~:g ~9'f,~;.i~'~
W1R~. CfiT.0ffill%,J ~.mcr·17 qcf.·~.·.·,·.cmQ£r(~ ~E~:Z qcf~ c8r~ IF.t~Yf'BmrL
~ 11~ q:®' %IA'B~ '%T' ~.~ C D'fr ger%'I" . ':; , '0 ':,J'" ;",.' :"

'~ , '..-- , . ~-, , ~' ,'- _. .. _. . .

~B~cn'~'~'~~ ?
1) Fem ~ 18qcf ~ 1

3) DetT ~2b ~'ll;

2) F em BR20 c&% 1,
4) Fem~ 19.~·.%(

69) If in a code language" PLAYER" is written as "AELPRY". Tll~nin the same language "'MANAGER"
will be written as ? . , .,'

':'~

1) AAGEMNR 2) AAEMGNR,'lU AA'EGMRN . 4) AAEGMNt ,'-
.' "'- --".', ~

69) ~ M CJiC-~ if " PLAYER" r.nT"AELPRY" ~ ~ m ~ 'ffilSl1 if " MANAGER" CfiT---"'-".
Wren ~ ? '

1) AAGEMNR 2) AAEMGNR

70) Aperson walks 8 km. in the East direction. There from, he moves §km, Inthe Nb11h-Westdirecti on. ';
From that place he walks 6km. in the South direction. His last point will be in the
from starting pOint? . . ' ,,': ,~

1) South - East 2) South - West 3) West- N9ftp
~ i. , ' '<

, 70):lfc6~,JlCf~fi1T if8f$.'m".,:q1j(1\ %\1r~'~ ~~W:rm!?Tf~ 5 fct. m;~
. fclJ. m. ~fu(Jrm~TT:if~% 1 ~~ ~~ B ~offifq ~ mt~~fr ".

71} The number of students-in a schoolincreases and decreases by IO%'respebtivelyin ev~ry alterI1a:~'
. year. If there was increase in the year 2000 then inhmv muchpercentagewhat:happelled i11ther (

number of students in the year 2003 in comparison to year 2000.
1) 8.9% decrease ,,2) 9.8% increase. 3) 8.9% iI?cn~ase 4) .9;8% decrea~~

~ _. >

7J) ~. ~ if'm;D cer.·.··~if ~ ~ .:qqi{~~T; lO%mt ".~ -.~ ..~ ...~ ....~ ..%1 qcf2QOb ~ ....~.
~ ill qq 2003 if crsr2000 em ··WfIT if 'i:9T?IT .~ l.Thm.if ~ ~~m q:qr ~? . ~.. '

1) 8.9% C!Yfr 2) 9.8% "lM 3)8:9%"lM 4) 9:8%q)ffi

25- • 27 r r o

indiresult.in whatsapp - 9352018749



GHW
72) If the cost of production of an article is 2/5 of its marked retail price, If it is sold at 10% discount

then what will be profit?

1) 25% 4) 125%2) 40% 3) 50%

72) ~ M~ cor ffiTKf ~ ~ en: 0lfum ~ ~ cor 2/5 % 0ffi ~ C3B10% ctT~ 1:R ~ iJlTffi~, ffi
~ CiTf'q irTr ? .
1) 25% 2) ·40% 4) 125%3) 50%

73) A cycle seller gives 10% discount on marked retail price and still earns 26% profit. If marked retail
price of the cycle is Rs. 840/- Then how much money was paid by the seller for that cycle?

1) Rs. 600/- 3) Rs 700/- 4) Rs 750/-2) Rs 650/-

73) ~ BI{fcb~~ BI{fcb~~ ~ ~ ~ 1:R 10% ctT tRC ~ % 1\3fR fCfx" ..qr 26% "fflI1~ %1 ~
BI{fcp~ COT WT ~ ~ ~ 840/- %, ffi ~ ~ ~ BI~fcp~ ~ ~ fcfKR·cor 'P"RfR ~ ?

1) ~ 600/- 2) ~ 650/- 3) ~ 7001- 4) ~ 750/-

74) Two things were sold at same sale-price. One thing got 10% profit and another suffered 10% loss.
The difference of their purchase ..pri~e will pe in multiple of which number,
Tell .

1) 10 2) 20 3) 15 4) 25

74) en .~. B11R '.~ ~ 1:R ~ <rfr 1~ ~ 1:R 10% q)f ~ \3f\1 ~ 1:R lO%ctT wR ~I ~
n=Ti-.;+' Pr--r.,' -+- • .;+.,;:"".?

~ ~'''11 <-j i31\'R Iq?~ ~ q? :rmcn <-j ei-u . ~ .

1) 10 3) 15 4) 252) 20

75) What will be the next number in the given series?
. 3,28,4, 65, 5, 126,6, ?

1)264 2) 317 3) 217

75) m ~ ~ if ~ \t&:rr CF=IT ~ ? 3,28,4,65,5,126,6, ?

4) 246

1) 264 4) 2462) 317 3) 217

76) What will come at the place ~ In the given series ?

BZA, DYC, FXE, ? ,NI

1) HAG 2) HGJ 3) HWG 4) HYG

76) m TP-fr ~ if .L: ~~ en: CF=IT ~ ? BZA, DYC, FXE,? ,IVI

1) HAG 2) HGJ 3) HWG 4) HYG

77) Two trains of same length are moving in the same direction at the velocity of 46km per hour and
36k111 per hour respectively. The fast train crosses the slow train in:36seconds. What is the lengthof
each train?

1) 50 meters 3) 80 meters 4) 82 meters2) 72 meters
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77) "@fA ~ c5r G] ~ ~ ~ 1R ~ tr ~~lT if ~~T: 46 fcI? .n. ~ tier \3fR 36 fcI? .n. ~

tier c5r Tfftf B 'fWf m- ~ I ~ ~ cmrTr ~ ~ ~ ft 36~ if ~'~ ~ ~ I ~ ~ c5r
~~~I

1) 5.oW 4) 82W2) 72lfTv: 3) 8.0 lfTv:

78) A car driver starting from Bengluru at 8.3.oA.M wants. to reach a place 3.o.okm away from Bengluru
at 12.3.0 Noon. At 103.0 A.M. he finds that he has covered only 4.0% distance. How much speed of
the car he has to increase to reach at stipulated time ? !

1) 45 kmIhr 2) 4Q Kmlhr 3) 35 Kmlhr 4) 3.0 KmIhr

78) ~ cnh ~ ~ B QI\f: 8.3.0 ~ ~ ~ ft 3.0.0fcI? .n. ~ ~ 1R ~ 12.30 ~ ~
~ ~ I QI\f: 10.3.0 ~ ~ ~ ~fcI? ~4.o% cjT tr ~ c5r~1 ffilftfW1lT 1R ~ it fW) -cru-
cnR c5r Tfftf ~~ ~ ?
1) 45fc1? 41. 1 tier 2) 4.o~ . .n. 1 tier 3) 35 fcI? .n. 1 tier 4) 3.0 frt . .n. 1tier

79) Out of Rs 2.0,.0.0.01- Prakash gives some aniount on loan at simple interest rate 8% perannum and
l::J.h

rest amount at simple interest rate "3 % per annum. At the end of year he earns Rs 8.0.01-. The

amount given at 8% rate will be .

1) Rs 8,.0.0.01- 2) Rs 12,.0.0.0/., 3) Rs 6,.00.01- 4) Rs 10,.0.0.01-

79) Wl?T~T ~ 2.0,.0.0.01- ifft ~ u~fr8% c5r .BT'tfR1JT ~"i;lIl\j'fZY 1R\3fR~nsr u~fr~ % c5r BTQRUT ~

~ zy.1Ri3~ 0r ~. I C[1Sf ~. ~ if~ ~gdp/- ctt· ~ ~ ~ ~ I 8% ~ zy 1R i3~m Tf4t
u~fr·€rfr I ", .

1) ~ 8,.0.0.01- 2) ~ 12,.0.0.0/- 3) ~6,.od.ol- 4) ~ 10,.0.0.01-

8.0) A person takes asome amount on loan at 3% perannu~ Simple interest payable annually. Immediately
he gives it on loan at 5% per annum compound iriierest pa1yable half yearly. At the end of year he
earns profit of Rs 33.o/~:tHbw much amount he tboks 6ri'lohll?

1) Rs 17,.0.0.0/- 2)Rs 16,5.0.0/- 3) Rs 16,.0.001- 4) Rs 15,9.0.0/-

8.0) ~ ~ 3% cniTtcn~ BT'tffiUI0':f1\Jf 1R m1T 13~'#m % I ~ \3B~: l1Tff~5%cnm 1:li*lq~
0':f1\Jf 1R i3~ ~ 0r % I qcf it i3tl if -cru- ~ 33.01- GfiT ~ ~ ~ ~ IiBiB-' &m i3~@ Tf4t.~T
~%.I
1) ~ 17,06.01- 3) ~ 16,.0.00/- 4) ~ 15,.00.0/-2) {16,5.o.oI-

~ 1
81) If at the Tate of 12 '2 % per annum the compound interest is Rs51.o(-.i,:y,hat will be the simple

interest on same amountfor the same period at the same rate''of interest?

1) Rs 4.0.01- 2) Rs 45.0/-
/

4) Rs 48.0/-3) Rs 46.0/-
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IH~ ~ 121' %~~~2 cr:f CfiTtI~6JM ~ S'510/- t- I riTi3ffi nfu 1:R \ffit.~ B \ffit w:rq ~m
BT'f.:ffi1lT ~ •.~ I

1) S'400J- 2) ~ 450/- 3) ~ 460/- 4) ~ 480/-

82X;Sortout the word which is different in some sense in the following group .
.··(a)Geometry (b) Algebra (c) Trigonometry (dj.Maths '(e) Arithmetic

1) Arithmetic 2) Maths 3) Algebra 4) Trigonometry

82) ~ ~ if B i3B ~~ cBT ~, \ill 0Rl B figTI Whl\ B ~ % I
''a) 0'QlfiHfl (b) q'"'ji51lITUm' (G) 8ichlulf?l\t'"'!. (d) 'lfUm (e) 0iCbllfUld

2) TffUrcr

83} Which is odd word in these? Tell
(a) Birbaltb) Ao,lJ1 Fpz.al (c)Tansen (d) Faiz Ahmad (e) Todannal

n.Aliul F<\Zal 2) Todarmal 3) Birbal

83)~i~ ~r¢qm.r ?~
(a) ~ (b) ~. ~(c)~'(d) ~ ~ (e) ~ +wr

2) ffis<'lfR 3) ~

4) Faiz Ahmad

4) %iJf ~

cl~ssof'1{)5tstud~Iits .outof tnreersubjects Maths, Physics, Chemistry each student studies at least
onesubi~ct.InMa!Ps 47, ill Physics 50, an~ in .Chemistry ?2 ~tu~entsstudies. 16 in Maths and
Physics.cl? in Mathsand Cheriristry and 16 in Physics and Chemistry students both subjects.

What will be the nU:p1ben0fstudents who studies all three subjects ?

2X(:it\ .·t.~) 4) 4
'. ~q<4~[-'lfUm, :~I~l}~$ll~ kiHil~'i!~$1\I;'i .BSh~~mm~q?lfB

if 47,~. ~ if~o;~ ~ ~ii52 fcrmm 0l~.%.I, 16'lfUm
~.~ ~-~ if 0fR 16 ~ ~ ~ ~.~ cJ1T ~

, 1:%~ H~dlt-
j ..•....~~\~
, if0l~Y ~>I'
".j. ··.~···rfAT···fcrsmT·if 0l~ .~ ..q-r#r ~ cR. r:f&rr qm'm-m.?

3) 7 4) 42)·6

85) In a class of105 students out ofthree subjects Maths, Physicsand Chemistry each student studies
, at least one subject. Inthese 47 students studies Maths, 50 students studies Physics and 52 students
,studies Chemistry and 16 Maths and Physics. 17 Maths and Chemistry and 16 Physics and Chemistry
students studies both subjects.

-What will be the llumbe~· of those students who studies Ol1Jytwo subjects?

2) 321) 31 3) 33 4) 34
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85) 105 ~Cf5t ~ q;-m if ffiTl ~ - llfUm ~ ~ ~ ~ ..~ if B- ~ rcrmm q)l=f

B- q)l=f ~~·cmm% I ~ 47~, 50~PcmR ~52~ ~ ~ ~ I 16~ ijffi:
~ ~, 17 ~ ijffi: ~ f€mR crm 16 ~ ~ ijffi: ~ ~ ~ ~ I

\R ~ Cf5t B-&IT CRn "Mr, iJlT m ~tr ~ ~ ~ ?

1) 31 2) 32\, 3) 33 4) 34

. . (0.1)2 - (0.01)2
86) What will be the square root of .... + 1

O.OOlxO.l

1) 10 2) 1.0 3) 0.1 4) 9

86) (0.1)2 - (o.01i + 1 q)f crt ~ CRn~ ?
O.OOlxO.l

1) 10 4) 92) 1.0

87) The ratio of ages of A and B 4 years before was 2:3. And after four (4) years it will becomes 5:7.
After 2 years their age will be ..... ?

1) 36 and 40 Years 2) 34 and 50 Years 3) 42 and 58 Years 4) 38 and 54 Years

87) 4 qrsf ~ A ijffi: B Cf5t~ q)f ~ 2:3 m I ijffi: 4 qrsf-q-~~ ~ .~. 5:7m·~ I 2 qrsf tf!/~

\RChl ;mg; m<TI .... <:>: I '

I} 36 ijffi: 40 qrsf 2) 34 0fu: 50 eN 3) 42 0fIT 58 crf 4) 38 ijffi: 54 ~

7
88) A completes 10' part of work within 15days. Thereafter with the help of B, he completes the rest of

. the work within 4 days. B alone will be able to do it in how many days.

1) 2174 days 2) 35 %7 days, 3) 28 %2 days,
4) 30}{7 days

88) A fcnm cnr=r ~ '1
7
0 'BPT c5T 15 ~ if W ijffifT % I~ tf~~" B Cf5tB~I;q<:ifB- ~N cnr=r c5T 4 ~ if W

CflTill ~ I B ~ i3\1 ~ .Cf)Tl1 ciT ~ f0r if CR ~ ?

1) 2174 ~ if - 2) 35 K7~ if 3) 28%2 ~ if

89) lithe value of (102)2 is 10404, then value of .JI04:04 + .Jl.0404 + .J0.OI0404 will be .
! I

1) 11.022 2) 10;322 3) 11.122 4) 11.322

89) ~ (102)2 q)f 'iR 10404 % I ill .J104.04 + .J1.0404 -+- .JO.O10404 CflT'iRmTIT ---------
I, ,", .-, ;;

1) 11.022 2) 10.322 3) 11.122 4) 11.322
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90) In an alloy proportion of Zinc, Copper and Lead is 2:3:1. In another alloy the proportion of Zinc,
Copper and Lead is 5:4:3. A third alloy is prepared by mixing both alloys in same quantity. The
proportion of Lead, Copper and Zinc in the third alloy will be.

1) 7:7:4 2) 9:lO:5 3) 6:7:4 4) 5:10:9

90) qcn Fr-31 mg if :sm=rr,fi ~ ~fu:rr 2:3: 1 ?t i3Wffi if % I ~ Fr.l3t mg if:sm=rr, fi ~~fu:rr 5:4:3
?t ~ if % I ci'AT P=r-31mg0TtCblBl1R l1Bl1 if ~i!1IGb,(illOO P=r-31mg GRT<fr \JfTffi% I illOO P=r.l3tmg
if ~fu:rr, fi ~ :sm=rrCOT '~ Mr I

1) 7:7:4 2) 9:10:5 3) 6:7:4 4) 5:lO:9

91) Fill in the blanks using the correct tense (of the verb) :

When I (open) the door, I (see) a man on his knees. He _~ __ (listen) to our

conversation and I (wonder) how much he (heat)

Options':

1) open; see; listens; wondered; heard

2) opened; saw; had been listening; wondered; had heard.

3) opened; saw; has been listening; wonder; has heard.

4) opens; sees; listen; wonder; hears.

92) Choose one ?f the followin~ sentences which is the corr~ct Pas,sive Voice of the sentence given

below: (Dq not mention the agent).

ACTIVE VOICE: You will have to pull down this skyscraper as you have not complied with the

town planning regulations.

1) This skyscraper building will be pulled down as the town planning regulations are not.complied
with.

2) This skyscraper building has to-be pulled down as the town planning regulations were not

complied with.

3) This skyscraper will have to be pulled down as the town planning regulations have not been

complied with.

4) This skyscraper should be pulled down by you as you have not complied with the town planning

regulations.
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94) Choose the correct set of articles to fill in the blanks: (Use 'X', if there is no article)

He said, "As _~ __ matter of __ fact, there was . explosion in __ last house
I visited; .and Mr. Beans, owner.of - house, was burnt in face.

Options:

1) a; X; an; the; the; the; the

3) the; the; an; a; the; X; a; ,

2) the; a; antXtthe; the; the

4) the; the·;X; the; a; a; the

95) Fill in the blanks choosing the correct set of prepositions .:
___ mistake I opened Sylvia's letter instead my own. She was very angry _
me and said that I'd done it Purpose
Options:

1) With; of; on; with

3) On; on; with; with

2) By; of; on; with

4) By; .of;with;on

96) Identify the INCORRECT sentence: (in which the Vetb is not inAgreement with the Subject).
Options:

1) Age and experience brings wisdom to man.
2) Neither Mr.Y nor Mr. Z has any right to the property.

3) The ship's crew was a mixed group of different nationalities.
4) When the ship arrived in part, the crew was taken into custody on a charge of mutiny.
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97) Choose the correct set of English translation of the following Hindi Words:

(in right order)

:i~ltilRt ; ~ ~ ; >lRiCi\{sH
Options:

1) Currency decrease; salary zenith; copyist

2) inflation; increment; transcription

3) deflation; inscribe; counter-copy

4) decreased income; increment; translation

98) The most suitable set of Synonyms of the word 'generous' is :
Options:

2) liberal, bountiful, magnanimous

4) stately, dignified.exalted

99) The most suitable antonym of the word 'rnisanthropist' is :

Options:

2) Anti misanthropist

4) Disanthropist

100) The most suitable 'one word substitute' of the following ~ordsare; (in right order);

(a) fear of confined spaces; (b) a person who has an irresistible desire to §teaL
Options:

1) (a) agoraphobia; (b) pyromaniac

2) (a) spacephobia; (b) dipsomaniac

3) (a) clastophobia; (b) theftomaniac

4) (a) claustrophobia; (b) kleptomaniac

2) Hard Disk

4) Cache Memory

2) ~~

4) ~~T fr:fm

1) Del Key 2) Enter Key

102) Which key of the keyboard is mainly used to cancel the program?

4) Esc Key3) Ins Key

25· I) 34

1) thankful, grateful, indebted

3) gentle,humble, tender

1) Philanthropist

3) Amisanthropist

101) Which is the fastest memory?

1) CD ROM

3) AuxiliaryMemory

101) ~ ~ fr:fm % ?

1) CD ROM

3) 011 eM ~ ZI C~wr~) trmr
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1) Del~ 2). Enter gMt 3) Ins~ 4) Esc~

103) Shortcut command for align the text in centre?

1) Ctrl+E 3) CtrI+R 4) Ctrl+C2) Ctd+T

1) Ctrl+E

104) Multimedia contains?

1) Audio

3) Both 1 and 2

104)~~·mm·~ 1

1) ~ (~Cl1) 2) ~ (1~~)

3) Ctrl+R2) Ctrl+T 4) cer-e

2) Video

4) none of t~e above

105) DNS stand for -

1) Domain Numger S~s;teIl1

3) Data Name SY§J~IJl
i"~'~:'tr::, ~i

2j· Domain Name System

4) None ofthe above

. JQ5) DNS em ~. % 7.·
l)~.~'~

3) mcr~ fma1

I
I

2) ~.~ ..fu@:r
4), ..•~ •.if; .~ ...m

106) 1 Kilobyte is equal to -'

1).,8000 Bits, 2) ....1044i.its

45' None 9f the"above3) 512Bits

106) 1 I?bl!i)ql~C~ %1

1) 8000~
, >' -...

lQ24~ -, 3)

107) 1Nibble is equal to-
1) 4 Bit

JQ7)1 ~ ~ ~?

1) 4~

3) 161;3it2) 8 Bit 4) 4 Byte

2)·8~ 3) 4)4~

108) Highest capacity of the storage are -

1) Terabyte 2) Yottabyte 3) Zettabyte 4) Exabyte

·PTH
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108)~ (~).ctT~~~ 1

1) ~(IGlI~c 2) ~ ~

109) The Speed of modem is measured in which unit?

1) BPS

3) CPS

109) ~ ctt ~ eN frtB ~ if ~ \SfRlT ~ I

2) GPS

4) None of the above

1) BPS 2) GPS 3) CPS

110) What is the full form of ISDN?

1) Input Service Digital Network

2) Integrated Services Digital Network

3) Integrated Switch Digital Network

4) Input Switch Digital Network

110) ISDN COTW ~ ~?
1) ~ BfcfB mMc<1 ~

3) ~Z1~eg~ ~Mc~ij ~

2) ~Z1~egBfcfB ~Mc<1 ~

4) ~.~ mMc<1 ~

111) f,=P"1@lmw if -« frtB ~ ~ \14t ~~ q4T46l1-q1 ~. -

1) Bf.:rr -~, qjTfCf), ~, ~

2) ~m:- ~mft, ~, (,1"1 {TGLl1 , .~

3) lJ~ - i3fqffi,lJ~, \W1R, ~.-mT

4) Rm - R$1RuD, ~, >r%1,'6f~l1T

112) frtB ~ if "<:jlfT - ~ ~ ~~~ - '

1) ~~cr:f, Sll:gqCbI{, ~

3) fY51j,l""lm,~, 1Sf5ff=r

2) ~, fI&:lRld, 4:f
4) 11151H;C:, ~, ~Cllllll1

113) ~ COT<JWct<JCfd01~ ~ ~ -~ "" ~
1) t9it COT~ - ~ qR.I3fJ1 ~ cmrrr
2) ~ ~ ~ ~ - W'liCT "I1Ff11

3) t9Tffi ~ i31AT - W=rm CR'JUTT B ~ ~
'\ ..:;..,.:::-. r" •

4) ~ \1 ~ tR 1:lWfRT - ~ COTI3"WICR q)f'1T

114) ~ Rlqf]Cilm ~ fcrcwq ~ -
1) ~ - ~, ~ - f'%!, \3fjWf - fcruTf
2) ~ - ~, ~ - f?l5,I>5j, ~fR:T - 01~fl1

3) ~ - ~, ~ - -p=i, ~ - ~
4) ~-R-crr4, qChI!1RlCi\31r''lIi<1\¢,~_~\ijl~-Slm<1"'IIi
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115) fctB"~ it ~iif ···rItn'~~;;~<5-
1) ~, 1ffil-TCi, ~

3)~,~,~

2) \31CflWf,01~, ~

4) ~, ~, ~ffll~fl

116) FtB ~ ~ ~ qc: cn4~ wmr if Rfitf ~ -
1) ~~, ~-m=r, Cf)1~IM=J,(fII(TI 41(T1 I

2) ~, ~, @i$1ql~"I, J)=q •.-t"!=q

. 3) ~, (§1~I(H,),quf~TWIT, ~

4) ~, ~~FL ';tCl\Jii'!, f!T?;{(TII(TI

117) ~Icbl~ C5T '9,FcHqCR1 01~ ~ -

1) ~ ill ~T&~ ill ~- ~ if ~ ~ mm ~ I

2). en:tT~~~ - ~~
3) ~ ~;:r ®it m~- ~ ~ ~ m ~ ill ~~ I

4) Ch'l-C6'1 ~ 1Vl ~-~ qR.I3fl1 tI<1"11cW"FlI ft:Rr~\ifTC# ~ I

118)01~ 01~ ~ ~~ cmrrr ~ ~-

1) ~ = ~ ~ qR = 01ffiCfR1

WCJ:n = ~ ~\3TI, qR = ~,
qfum::;: ~
mm=;~
~=~.
~=~~,!

~=~.
w=OO

2) ~niB= ~

~mrfr7 Cf)fffi ~,

3) ~ ="@R
>JliTUT = iJCB,

i31 = ~
~ = ;rfcn,

4) we = en: fcWR = ~ C/)ffi = ~ Cfffl"

we = ~ ctT~, ~ = Cf?{~7 Cf5fu- = ~

119) ~ <~ ~~ ~.~-

1) ~ crroTI 01~ 1Vl if ~ ;:r fc8TI \Jff ~-~.4'i\wrl'i::n
2) Aw c8 ;sfm frA· cmrrr - ~~T

3) \:fen tT ~ ~ :::r~ em (~ ~ it) >rCfi1~R-\31W1cl?m

4) -qr~~anem ~ - ~

120) '01f' ~ ~ AfTfu ~~ ~ (B'lTI ~~ ~) ~raz::B~ % -
1) ~'m1 2) %fr, ~~T, ~1T9T irffi

m~l 4) ~, ~, ~, ~

PTO
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